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4.1 Solving Systems of Linear Equations
by Graphing and by the Substitution Method

A system of equations is two or more equations considered
together.
{Ax +By=C
Dx+Ey=F

A solution of a system of equations in two variables is an
ordered pair that is a solution of each equation in the system.

A solution of a system of linear equations can be found by
graphing the lines of the system on the same coordinate axes.
The point of intersection of the lines is the solution of the
system of equations.
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When the graphs intersect at only one point, the system of
equations is called an independent system of equations.
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When the I'ines are parallel (and do not intersect), the system

of equations is called an inconsistent system of equations,
and has no solution.

When the tWo equations represent the same line, the system

is called a dependent system of equations, and has
infinitely many solutions of the form (x, mx+b).

(X, Mxtb)

no solution
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Example 1 Transitive Propeﬁ.j of
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{})j: —}?ix+2 If 2=b ans b=c

‘H\U\ a=C. g

Ax=4F =-3x+2_

5x=b
- b b -3
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Example 2

{2x+y=4 = W=+ g

3x =2y =5 3X_2<,2x.‘_4> =5
y=-2 %}r‘\- BX+4y g =
=2 .28 2 FX=ID
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4.2 Solving Systems of Equations by the Elimination Method
(Additon Method)
Rules: We can...

1. multiply an equation by a non-zero constant
2. interchange any 2 equations
3. add a non-zero multiple of any equation to another

3x +4y = 25
16, %235 +y=10)C4+
Multolying 2™ couation —4 yields
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26 {3x+3y:y+1
"(x+3y=9—x

=(3x +2y = [Y2) > bx+4y=2
(2x +3y = q><-3> + "(OX‘Qﬁ:-‘-Q:I‘"

_5y=-25
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